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' 1.. (10%) Let ‘
: ) — L7 sint
- I(z) 2sec;v | /0 0 tzdt'
| Find (a)F(0),  (b)F(0),  (c)F"(0).
; 2. (10%) Find
t lim z(tan~1g — g)
1‘ r—00
’ 3. (156%) Bvaluate the improper integral
. [
E‘ _ S 14 da?
ﬁ 4. (10%) Find the area of the region lying between the inner loop of the
polar curve r =1 — 2 cosd.
F 5. (10%) Find all extrema on the interval [0, 27] for y = x — cosz.
! 6. (10%) Evaluate the limit
zy?

(Z»y%i—l»]%o,o) @2 y?’
; 7. (10%) Find a and b so that
!L_ . lim (Va? -z +1—az~b) =0,
iiz .
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8. (15%) I'ind the region of convergence of the power series

(a;+2)21n2+(:c—|—2)3ln3 (x+2)%In4
2x9 C3x27 4x8l1
9. (10%) Evaluate the iterated integral

3WVin2 ,vin2 ..
/ / e” dzdy.
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